
   The constant of circles   1.007   
 

 

d (diameter) ,  and c (circumference) ,  of a circle                   

 

Two steps to a new geometric paradigm , by Aetzbar , 8\2017       
        

 

The first step                                               
                                                

When d goes to infinite ,   and alpha goes to zero,     then X goes to 1 

 

 

 

 

d     alpha                                      arc of a                X = arc of a : a   
 

 

c                                                            

 

When d goes to zero,   and alpha goes to zero,   then X goes to 1.007 

 

 
  x =1.007                                          x maximum : x minimum = 1.007                                  

……………………………………………….                 x = 1 ………………….…. 

inf..                                                                                                                 d             

                                                           d = 0.001mm                                                         

                                                                                     x = 1.0035 

 

 

 The second step                                         
                                                                                               

When d goes to infinite, -------------------------  then y goes to 3.1416  

 

 

 

 

d                                                    c                                    y = c : d      
 

 

 

 

When d goes to zero  -------------------------------  then y goes to 3.164 
                           

d = 0.001 mm ,   y = 3.15                                             

 

y maximum : y minimum = 1.007  (the constant of circles)      



 

 

 

 


